Выполните действие                                                   Ответ
	№
	1
	2
	3
	4
	5

	1
	1,2∙10
	7,3∙10
	3,25∙10
	8,56∙10
	5,587∙10

	2
	6,281∙100
	2,53∙10
	4,33∙100
	0,7∙100
	1,3∙100

	3
	53,2∙0,1
	61,3∙0,1
	6,24∙0,1
	8,34∙0,1
	0,645∙0,1

	4
	562,3∙0,01
	257,9∙0,01
	67,9∙0,01
	9,6∙0,01
	0,6∙0,01

	5
	64,3 : 10
	9,3 : 10
	35 : 10
	9 : 10
	0,35 : 10

	6
	654,8 : 100
	91,2 : 100
	3,8 : 100
	92 : 100
	6 : 100

	№
	1
	2
	3
	4
	5

	1
	12
	73
	32,5
	85,6
	55,87

	2
	628,1
	25,3
	433
	70
	130

	3
	5,32
	6,13
	0,624
	0,834
	0,0645

	4
	5,623
	2,579
	0,679
	0,096
	0,006

	5
	6,43
	0,93
	3,5
	0,9
	0,035

	6
	6,548
	0,912
	0,038
	0,92
	0,06


